Klintehamns BK
Martin 2021-11-10

Partavling, 5 bord, 10 par. Antal brickor: 27. Medel: 108.0.

Plac  Par Poéng % Namn MID Klubb
1 10 134 62.04  Bo Elfverson - Lars-Erik Andersson 1911 2957 Visby BS
2 2 123 56.94  Tomas Lundh - Jan Hjorth 79113 4158 Visby BS
3 6 116 53.70 Bernt Kviberg - Thor Ahlkvist 44914 32882  Klintehamns BK
4 9 112 51.85  Ulrika Forsberg - Tom Wickstrém 89334 11044  Visby BS - Sudrets BK
5 3 109 50.46  Hakan Bjornson - Stefan Budin 11201 11046  Visby BS
5 8 109 50.46  Hasse Tagt - Torgny Nilsson 87384 84569  Visby BS
7 5 107 49.54  Sylve Nilsson - Evert Svensson 50191 14244  Klintehamns BK
8 7 106 49.07  Kjell Bergqvist - Ake Gansvik 14691 13208  Klintehamns BK
9 1 95 43.98  Eva Kraft - Goran Jakobsson 51349 4549 Klintehamns BK
10 4 69 31.94  Lars Westberg - Goran Hejdstrom 7618 34188  Klintehamns BK
1 Nord Ingen 2 Ost NS 3 Syd OV
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
46 3¢0-3 &T 150 70 10| 7 3 4v N= *4 620 6.0 20 9 8 3NV-1 *5 100 8.0 0.0
98 3¢ O-3 &T 150 70 1.0 98 4v N= +3 620 6.0 20| 7 3 4v V= a2 -620 6.0 2.0
52 4v V-1 *A 50 40 40|10 1 4v S= +5 620 6.0 20 52 3NO+1 43 -630 3.0 5.0
7 3 3#DN-1 s K -100 2.0 60| 52 3vN+1 *4 170 20 6.0( 10 1 3NV +1 *5 -630 3.0 5.0
10 1 3NN-3 v3 -150 0.0 80| 46 3vyN= +3 140 0.0 80| 46 3NO+3 v2 -690 0.0 8.0
4 Vast Alla 5 Nord NS 6 Ost OV
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
6 3 3NS+2 v5 660 80 00| 8 4 3¢4DV-3 vJ] 500 80 00| 19 3¢ S= *5 110 7.0 1.0
8 4 3NS+1 *9 630 50 30| 57 44 V-1 *T 50 40 40| 8 4 2¢ S+1 s A 110 7.0 1.0
10 2 3NS+1 *9 630 50 3.0 6 3 3NV-1 +Q 50 40 40| 57 2vV-1 a4 100 40 4.0
19 3NS= *9 600 10 7.0| 10 2 34 O-1 vK 50 40 40| 6 3 34 N-2 »8 -100 1.0 7.0
57 3NS= +6 600 10 70| 19 440-= *9 -420 0.0 80| 10 2 24 N-2 v3 -100 1.0 7.0
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
21 3eV-2 s K 200 80 00| 7 4 4v V-1 + K 50 70 10| 7 4 24 N+3 4Q 150 8.0 0.0
7 4 24 N+2 *A 170 6.0 20| 10 3 64 O-1 ¢A 50 70 1.0( 95 3v0O= *9 -140 6.0 2.0
6 8 1v N-2 + K -200 2.0 6.0 6 8 4v V= *9 -420 4.0 4.0| 10 3 3v O+2 *9 -200 4.0 4.0
95 1vDN-1 *A 200 2.0 6.0| 2 1 44 O+3 *Q 510 1.0 70| 21 3vO+3 «9 -230 2.0 6.0
10 3 1v N-2 *A 200 2.0 6.0| 95 44 O+3 *Q 510 1.0 7.0| 6 8 4v O+3 *9 -710 0.0 8.0
10 Ost Alla 11 Syd Ingen 12 Vast NS
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
16 360= .7 -140 6.0 20| 10 4 4v S= ¢A 420 80 00| 32 2NV-2 vA 100 6.0 2.0
8 5 24 O+1 vJ -140 6.0 20| 3 2 24 S+2 + K 170 6.0 20 85 3¢ O-2 v6 100 6.0 2.0
10 4 24 O+1 v] -140 6.0 20| 7 9 3vN-1 *4 50 4.0 4.0| 10 4 3¢ O-2 v2 100 6.0 2.0
79 24 O+2 v] -170 2.0 60| 1 6 44 S-3 ¢A -150 1.0 70| 79 3¢0-1 v2 50 20 6.0
32 3vN-2 a2 -200 0.0 80| 85 34S-3 vA -150 1.0 70| 16 2¢ 0= *6 -90 0.0 8.0
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
10 5 3¢ V-1 vQ 100 80 00| 27 4vN+1 *9 450 40 40| 8 1 4v N= 4Q 620 7.0 1.0
96 2¢ V= vQ 90 6.0 20| 4 3 4vN+1 *3 450 40 40| 10 5 4v N= &A 620 70 1.0
27 2¢ O+1 vK -110 4.0 40| 8 1 4v N+1 A 450 40 40| 4 3 3NN= *8 600 40 4.0
4 3 34S-3 + K -300 1.0 7.0 9 6 4v N+1 46 450 40 40| 27 2v N+2 .7 170 20 6.0
8 1 3#N-3 +*J -300 1.0 70| 10 5 5v N= *A 450 40 40| 9 6 INN+2 +Q 150 0.0 8.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
3 8 34DS= 2 530 80 00| 17 3aV-3 2 150 8.0 00| 54 1a N+1 *7 110 8.0 0.0
10 6 34 S= vA 140 6.0 20| 10 6 3¢ S= s K 110 6.0 20 17 2NO= +6 -120 6.0 2.0
54 24 S-1 2 50 4.0 40| 3 8 24V-1 2 50 30 50| 38 3vVv= s K -140 4.0 4.0
17 26V+1 4Q -110 2.0 60| 54 24V-1 2 50 30 50 92 4v V= s K -420 1.0 7.0
92 4v 0= s A -620 0.0 80| 9 2 3¢ S-2 s K -100 0.0 80| 10 6 4v V= s K -420 1.0 7.0
19 Syd OV 20 Vast Alla 21 Nord NS
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
28 INO-1 v5 100 6.0 20| 10 7 5v S+2 aT 710 8.0 0.0 10 7 44 N+2 *5 680 8.0 0.0
49 INO-1 v3 100 6.0 20 2 8 5#4N+1 oK 620 50 3.0 13 4aN+1 46 650 5.0 3.0
6 5 1a V-1 +5 100 6.0 20| 65 54 N+1 aA 620 50 3.0 49 44 N+1 *T 650 50 3.0
10 7 INN= Ly 90 20 60| 1 3 4eV+1 &*A -650 1.0 70| 65 3NN= v3 600 20 6.0
13 2¢ N-2 43 -100 0.0 80| 4 9 44 V+1 A -650 1.0 70| 2 8 64 N-1 vA -100 0.0 8.0
22 Ost OV 23 Syd Alla 24 Vst Ingen
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
51 3NO-5 »8 500 80 00| 24 340-1 vJ] 100 80 00| 51 2v N+2 *] 170 8.0 0.0
10 8 2¢ O-3 +3 300 6.0 20 51 3vN-1 aT -100 5.0 3.0 2 4 2vS+1 43 140 40 4.0
39 3NO-2 a2 200 40 40( 10 8 3vy N-1 aT -100 5.0 3.0 7 6 2v S+l s K 140 40 4.0
76 2¢ N-1 vA 50 20 60| 76 340= vJ] -140 2.0 6.0 10 8 3v N= *] 140 40 4.0
2 4 3¢ N-3 ] -150 0.0 80| 3 9 340+1 v] -170 0.0 80| 3 9 4vN-1 *] -50 0.0 8.0
25 Nord OV 26 Ost Alla 27 Syd Ingen
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
10 9 64 S= *J 920 80 00| 10 9 6vDS= s K 1660 80 00| 87 4vS= *A 420 8.0 0.0
35 44 S= +Q 420 6.0 20 6 2 4vyDN+1 &A 990 6.0 20 41 3¢ 0-3 +6 150 6.0 2.0
8 7 2¢ S+4 aT 170 40 40| 35 6vS-1 s K -100 3.0 50| 35 3aV-2 vQ 100 40 4.0
6 2 3¢ S+2 v3 150 20 60 41 5vN-1 *T -100 3.0 50| 6 2 3vS-1 + K -50 1.0 7.0
41 3NS-1 *] -50 0.0 80| 8 7 5vDS-1 s K -200 0.0 80| 10 9 3vS-1 + K -50 1.0 7.0
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